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Figure 1. Median bias of three estimators, r = 5, R2∞ = 0.1
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Figure 2. Median bias of three estimators, r = 5, ρ = 0.9
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Figure 3. Median bias of three estimators, R2∞ = 0.1, ρ = 0.9
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Figure 4. Nine decile range of three estimators, r = 5, R2∞ = 0.1
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Figure 5. Nine decile range of three estimators, r = 5, ρ = 0.9
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Figure 6. Nine decile range of three estimators, R2∞ = 0.1, r = 0.9
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Figure 7. Rejection frequencies for asymptotic t tests at .05 level, r = 5, R2∞ = 0.1
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Figure 8. Rejection frequencies for asymptotic t tests at .05 level, r = 5, ρ = 0.9
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Figure 9. Rejection frequencies for asymptotic t tests at .05 level, R2∞ = 0.1, ρ = 0.9
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Figure 10. Effects of the Distribution of the Instruments, n = 50, r = 5, R2∞ = 0.1
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Figure 11. Effects of the Distribution of the Instruments, n = 50, r = 5, ρ = 0.9
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Figure 13. Nine decile range of 2SLS and JLS

Davidson and MacKinnon: Figures for “The case against JIVE” 13



0.00 0.20 0.40 0.60 0.80 1.00
−0.20

0.00

0.20

0.40

0.60

0.80

1.00

..........
...........

............
...........................

........... LIML

....................
....................

....................
....................

....................
....................

....................
....................

....................
....................

....................
....................

.....................
....................

.............................
......................

......................................................... JIVE1

...............................
................................

..............................
................................

...............................
................................

...............................
.................................

..............................
................................

..................................
.............................

.................................
..................................

................................
...................................

.....................................
..........................................

...................................................................
..........

....................................................................................................... IJIVE

...................
...................

...................
....................

..................
...................

...................
.................

...................
...................

....................
....................

......................
....................

........................
.................................................................. UIJIVE

n = 25

ρ

0.00 0.20 0.40 0.60 0.80 1.00
−0.20

0.00

0.20

0.40

0.60

0.80

1.00

.........................................................
...........................................................

..........................................................
...................................................................

.........................................................................
..........................................................................................

....................................................................................................................................................................................
.......................

....................................................................................................... IJIVE

...................................
...............................

..............................
....................................

....................................
....................................

....................................
.........................................

.........

...................................................... UIJIVE

.........................................................

........... LIML

...............................
.....................................

................................
............................................

.....................................................
.........................................................................................................

......................................................... JIVE1
n = 50

ρ

0.00 0.20 0.40 0.60 0.80 1.00
−0.10

−0.05

0.00

0.05

0.10

0.15

0.20

0.25

..........................................................

........... LIML

........................................................................................................................................................................................................................................................................................................................

......................................................... JIVE1

.......................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................

....................................................................................................... IJIVE

..........................
............................

........................
..........................

..........................
..........................

........................
...........................

...........................
........................

.........................
....................................................................... UIJIVE

n = 100

ρ

0.00 0.20 0.40 0.60 0.80 1.00
−0.10

−0.05

0.00

0.05

0.10

0.15

0.20

0.25

.........................................................

........... LIML

......................................................................................................................................................................................................................................................................................................................

......................................................... JIVE1

..........................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................

....................................................................................................... IJIVE

...............................................................
........................................................

......................................................
......................................................

.................................................
............

...................................................... UIJIVE

n = 200

ρ

0.00 0.20 0.40 0.60 0.80 1.00
−0.05

0.00

0.05

0.10

0.15

...........................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................

....................................................................................................... IJIVE

..........................................................

........... LIML

.....................................................................................................................................................................................................................................................................................................................

......................................................... JIVE1

...................................................................
.....................................................................

....................................................................
..................................................................

..................

...................................................... UIJIVE

n = 400

ρ

0.00 0.20 0.40 0.60 0.80 1.00
−0.05

0.00

0.05

0.10

0.15

...................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................

....................................................................................................... IJIVE

.........................................................

........... LIML

............................................................................................................................................................................................................................................................................................................

......................................................... JIVE1

....................................................................................................................................
................................................................................................................................................

..........

...................................................... UIJIVE

n = 800

ρ

Figure 1a. Median bias of four estimators, r = 5, R2∞ = 0.1
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Figure 2a. Median bias of four estimators, r = 5, ρ = 0.9
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Figure 3a. Median bias of four estimators, R2∞ = 0.1, ρ = 0.9
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Figure 4a. Nine decile range of four estimators, r = 5, R2∞ = 0.1

Davidson and MacKinnon: Figures for “The case against JIVE” 17



0.00 0.20 0.40 0.60 0.80 1.00
0.0

2.0

4.0

6.0

8.0

10.0

12.0

...............
..............
...............
..............
..............
..............
...............
..............
..............
...............
....................
.................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................

.......................................................................................................IJIVE

...
...
...
.........................................................................

...........LIML
..........
..........
..........
..........
..........
..........
..........
..........
..........
..........
..........
...........
............
...............................................................................................................................................................................................................................................................................................................................................................

.........................................................JIVE1

..............
.................................................................................................................................................................................................................................................................................................

......................................................UIJIVE

n = 25

R2
∞

0.00 0.20 0.40 0.60 0.80 1.00
0.0

2.0

4.0

6.0

8.0

10.0

12.0

.............
.............
..............
.............
..............
.............
..............
.............
..............
.............
..............
..............
...............
..................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................

.......................................................................................................IJIVE

...

...

...
..............................................................................

...........LIML

..........
..........
..........
..........
..........
..........
..........
..........
..........
..........
..........
..........
..........
..............
........................................................................................................................................................................................................................................................................................................................................................................................................

.........................................................JIVE1

...........
.......
..................................................................................................................................................................................................................................................................................................................

......................................................UIJIVE

n = 50

R2
∞

0.00 0.20 0.40 0.60 0.80 1.00
0.0

2.0

4.0

6.0

8.0

10.0

12.0

.............

.............

.............

............

.............

............

............

............

............

.............

.............

.............

..............
.............
.............................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................

.......................................................................................................IJIVE

...

...

...

................................................................................

...........LIML

..........

..........

..........

..........

..........

..........

..........

..........

..........

..........

..........

..........
..........
..........
..............................................................................................................................................................................................................................................................................................................................................................................................................................................

.........................................................JIVE1

.........
.........
........................................................................................................................................................................................................................................................................................................................................

......................................................UIJIVE

n = 100

R2
∞

0.00 0.20 0.40 0.60 0.80 1.00
0.0

2.0

4.0

6.0

8.0

10.0

12.0

.............

.............

............

.............

.............

.............

.............

............

.............

..............

.............

............

............

.............

...............................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................

.......................................................................................................IJIVE

...

...

...

.................................................................................

...........LIML

..........

..........

..........

..........

..........

..........

..........

..........

..........

..........

..........

..........

..........

..........
....................................................................................................................................................................................................................................................................................................................................................................................................................................................................

.........................................................JIVE1

.........

.........
......................................................................................................................................................................................................................................................................................................................................................

......................................................UIJIVE

n = 200

R2
∞

0.00 0.05 0.10 0.15 0.20
0.0

2.0

4.0

6.0

8.0

10.0

12.0

.............

.............

.............

.............

.............

.............

.............

.............

.............

.............

.............

.............

.............

.............

..............................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................

.......................................................................................................IJIVE
.....................................................................

...........LIML
..........
..........
..........
..........
..........
..........
..........
..........
..........
..........
..........
..........
..........
......................................................................................................................................................................................................................................................................................................................................................................................................................................

.........................................................JIVE1

............
...................................................................................................................................................................................................................................................................................................................................

......................................................UIJIVE

n = 400
(horizontal axis truncated)

R2
∞

0.00 0.05 0.10 0.15 0.20
0.0

2.0

4.0

6.0

8.0

10.0

12.0

....................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................

.......................................................................................................IJIVE
.......................................................................

...........LIML
..........
..........
..........
..........
..........
..........
..........
..........
..........
..........
..........
...........................................................................................................................................................................................................................................................................................................................................................................................................................................

.........................................................JIVE1

..........................................................................................................................................................................................................................................................................................................................................

.........................................................UIJIVE

n = 800
(horizontal axis truncated)

R2
∞

Figure 5a. Nine decile range of four estimators, r = 5, ρ = 0.9
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Figure 6a. Nine decile range of four estimators, R2∞ = 0.1, r = 0.9

Davidson and MacKinnon: Figures for “The case against JIVE” 19


